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(1.1)

1.
SEER (2L, t > 0) XOWTOEBER (1), y@t) PROWMDHEALRES bDL
T5.
Ed% =ax — wy — x(x? + y?)
dy _ 2.2
' =wx+ay—yx*+y°)

ZIZT, al3EEH, o BZEDOEEHTHS.
1-1
R (1.1) 2 oIEREERROV M HER

dx
—=ax-w
dr y

d
l:wx+ay

dt

PEZ D, IHAZRMZ
x(0) =x0, y(0) =yo

(1.2)

(1.3)

vYE 5. 27U, (o, o) £ (0,00 2L, & (1.2) OFE@x =y =0LBORITOVT

ERB.

(1) & (1.2) »6 y@) BEETAILITE-T, x(t) PROBMDFTERIRED e %

.
d?x
dt? dt

dx
—2a—+(a*+w?)x=0

(1.4)

(2) R (1.3) o#mggHFEob T, R (1.2) DR x(r), y(t) ZRD XK.

(3) R (1.2) OfE (x(2), y(r)) OEFE (1 > 0) OBFE xy FENICHE L, xy FEHICE
FABOE S BN EELYETHPY L. BBEa>0, a=0, a<0DZOLZN

DBFEWZDOVWTRT I L.
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% (1.1) OEEMx =y =0V TEZS. R (1.1) THL,

x=rcosf, y=rsind (1.5)

(72721, r>0) £BLILT, EEE @), 00) T 2MA 7R

dr
i 7 (1.6)
dé
7L A (1.7)
BESNS. FHIREE
r(0) =ro(>0), 6(0) =6q (1.8)

r¥ 5.

(1 [ 7 [ 4 Jersstekod k.

(2) =® (1.8) oLt d T, R (1.7) DR O(r) ZRKD XK.

(3) 100 DY E r(r) DULHT B HESE, %O)IE:%&:%E LCae k. 7, IGR
T 3BT FOMPBEYEZ .

(4) & (1.1) OfF (x©©), y@)) DEEF (r > 0) DHEZ xy SEEICHE L, xy FEICE
I BEOE L ECEEEANECHBAY L. & 3a>0, a=0, a<0DZOLN
DEESIZOVWTET L.

(5) R (1.6) THL,

s=r2 (1.9)

Y8BT, EEB () KT amEoMs RSB LN, TOZEEMAL
<, & (1.8) oLt b T, R (1.6) DfEr(r) ZXKD K.
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EATTEIA %2
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A=| —— 1 1 (2.1)
V2
Lo
V2
T3, EFBEDEATH B DI7HIR % detB ¥ RicT 5. LUTOMWIZEZ K.

-1 detA 2&Z k.
-2 175 ADEBEEEZ L.
-3 nEEOEEXLT, 177 A" % 3x3 DITFIDOFETER X.

-4 nEEOEBHEYLT, det(A") 2EFZ L.
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3.
n BREOBEY 5. X ay, an, bp ZFAWVT, 2n 2R 3 2 82 EBE f(x) &

f(x):—;-a0+§(ancosnx+bnsinnx) (3.1)
DEST7—) IFBICERT AL E2EZ S, TOMWIIEZR K.
3-1 mPATRVENHY LT, UTOBIHEREZEZ X.

(1) / : f(x) cos mxdsx, 2) / : £(x) sin mxdx (3.2)
3-2 f(x)%, 2n ZAHL T 5ROBK
f(x)=x* (-r<x<n), flx+2n)=Ff(x) (3.3)
Y53, ZoBEE 7Y TRECERT 3BD a, an, bn EEZ XK.

3-3 ® (3.3) @ f(x) 07—V HEBERDOERZHAL T,

i (1" (3.4)
n=1

n2
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